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= 304,909 270,404 34,505
Il 782,357 779,053 3,304
= 5,671 5,671 0
T 271,472 270,296 1,176
= 3,439,319 3,432,101 7,218
A2 & 2,783,229 2,798,650 A 15,421
= 103,949 103,949 0
Il 525,760 532,456 26,696
= 5,671 5,671 0
< 176,513 180,412 A 3,899
= 1,971,336 1,976,162 N4,826
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O33E21J|&2 BEEX ==& 17,770 5,000 12,770
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307 2120l A 150,319 177,458 A27,139
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= 5,671 5,671 0
= 131,094 134,993 ~3,899
= 954,950 957,747 ~2,797
R0 ALHOILE A2 49,568 47,364 2,204
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S0t Al 49,264 49,044 220
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OSEALSANY H22 212y
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201 LBr2 Y| 9,460 5,710 3,750
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2 4,730 2,855 1,875
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Z & 3,025,000& = 121 » 12& 36,300 38,400 A 2,100
J| 18,150 19,200 A 1,050
i 18,150 19,200 A 1,050
OSedZdSTANY H2RE EX=s
Z & 1,650,000 * 20! 3,300 3,200 100
J| 1,650 1,600 50
i 1,650 1,600 50
OSEULSTAY M2 AIIE A
55,000& = 1¢1 = 10 550 0 550
201 Let24E] 7,220 5,220 2,000
J| 3,610 2,610 1,000
ia 3,610 2,610 1,000
01 AbR2teltl 7,220 5,220 2,000
O[At=2teldl] 6,260 4,260 2,000
OZLANYg 822 7
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J| 1,630 630 1,000
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[ia 184,175 184,175 0
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[ia 163,745 176,195 A 12,450
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01 =W o8I 4,336 8,220 23,884
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) 1,178 3,120 A1,942
[ 1,178 3,120 A1,942
307 2iz2told 29,743 0 29,743
) 14,871 0 14,871
z 14,872 0 14,872
012222l 29,743 0 29,743
OgeATACIANLE AZI I & 437 Y
8,247,666% * 35 24,743 0 24,743
p) 12,371 0 12,371
i 12,372 0 12,372
OdEEAMNYE 425 7Y
12,5003 * 4002! 5,000 0 5,000
) 2,500 0 2,500
i 2,500 0 2,500
grolor HASTAY 96,950 96,730 220
) 45,645 45,645 0
i 51,305 51,085 220
101 1A 8l 44,270 45,600 A 1,330
p) 19,305 20,080 ATT5
z 24,965 25,520 ANGIS
04 JIZHM2ERSES 44,270 45,600 A1,330
OSEAULSTANY M2 2|
33 1,650,000& = 22! * 10.7& 35,310 36,960 A 1,650
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201 ot FH| 14,300 14,300 0
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2 7,150 7,150 0
01 Ak 22l 14,300 14,300 0
Olgs+gyl] 12,140 12,140 0
OBtolo AYZAAY AH O SHY|
33 0% 0 5,000 A5,000
p] 0 2,500 A2,500
2 0 2,500 A2,500
Osgolstuzs 2% Al
5,000,008 * 13l 5,000 0 5,000
p] 2,500 0 2,500
2 2,500 0 2,500
301 LA Z 16,450 17,000 A 550
p] 8,225 8,500 A275
2 8,225 8,500 A2T5
10 BAFAIEI 24 3 16,450 17,000 A550
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OSsolstatas 29 A2
70,0008 * 5% * 72 2,450 0 2,450
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2 6,395 6,120 275
NIEEEEETT 12,790 12,240 550
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AH 3,197,5008 * 43| 12,790 12,240 550
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p] 1,785 1,010 775
2 1,785 1,010 775
01 AU 2B St 3,570 2,020 1,550
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J| 1,785 1,010 775
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pJ 7,843 7,843 0
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stdolmioh At TioH At XS XA AL 75,600 57,600 18,000
= 75,600 57,600 18,000
307 2i2tol & 75,600 57,600 18,000
= 75,600 57,600 18,000
012222l 75,600 57,600 18,000
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d & 150,000 = 42021 « 128 75,600 57,600 18,000
= 75,600 57,600 18,000
SHHIZHOI L ZAIE JIsSEH 68,440 68,400 40
= 34,220 34,200 20
L= 17,110 17,100 10
z 17,110 17,100 10
402 22201 & 68,440 68,400 40
= 34,220 34,200 20
& 17,110 17,100 10
z 17,110 17,100 10
02 QIZHCH &AL HI 68,440 68,400 40
OBHHIZIOIUZAIE Jls22
3 F 844,938.27& * 81m 68,440 68,400 40
= 34,220 34,200 20
& 17,110 17,100 10
e 17,110 17,100 10
HdZEE o2 22,959 19,990 2,969
307 2iz2tol & 15,317 12,348 2,969
012222l 6,301 3,332 2,969
OZAE 2 (28) 12,5273 » 2374 2,969 0 2,969
ngaEs 24 555,666 555,666 0
) 172,128 172,128 0
& 26,615 26,615 0
[ 356,923 356,923 0
IR0 NSES 49,093 61,093 212,000
) 24,546 30,546 A 6,000
= 24,547 30,547 A 6,000
307 2i2tol & 49,093 61,093 A 12,000
) 24,546 30,546 A 6,000
z 24,547 30,547 A 6,000
01 =22 49,093 61,093 A 12,000
OSR0 HLHS AEFY
3 6,327.2H * 7,759¢ 49,093 61,093 A 12,000
) 24,546 30,546 A 6,000
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J| 83,574 77,574 6,000
[ia 83,574 77,574 6,000
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-+ 32 03 0 7,000 A7,000
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32 03 0 14,000 A 14,000
05 RIZtelEt = 37,915 11,760 26,155
Ogot HEES HE A= 02 X
Z& 5,000& = 3,752¢! 18,760 11,760 7,000
OUYESHAY FEH X
18,706& = 1,0240! 19,155 0 19,155
olzHl XN& 220,986 180,371 40,615
= 54,181 37,696 16,485
J| 76,626 66,626 10,000
= 29,764 24,699 5,065
s 60,415 51,350 9,065
A2 MO =R0IX& 67,735 47,120 20,615
= 54,181 37,696 16,485
< 6,777 4,712 2,065
[ia 6,777 4,712 2,065
307 21201 A 67,735 47,120 20,615
= 54,181 37,696 16,485
= 6,777 4,712 2,065
s 6,777 4,712 2,065
05 RIZt2IEt = 67,735 47,120 20,615
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